
 

 

          
D-100-MIL-2 

BLIND FASTENER INSTALLATION TOOL KIT 
NSN 5180-01-201-4979 

 
CONTRACTOR:  Cage 64878 
FASTENING SYSTEMS INTERNATIONAL, INC. 
1206 EAST MacARTHUR STREET 
P.O. BOX 1372 
SONOMA, CALIFORNIA 94575-1372 
TEL: (707) 935-1170 
FAX: (707) 935-1828 
TOLL FREE USA: (800) 344-2393 
www.fsirivet.com 
 
KIT CONTENTS: 
 
QUANTITY  PART NO.   DESCRIPTION 
 
 1  D-180    HAND HYDRAULIC RIVETER 
 1  F187-1A *   ADAPTER SLEEVE  
 1  F187-2A *   ADAPTER PULLER SHAFT 
 1  F156 (5120-01-430-5384)  RIVET NOSEPIECE; 3/32" 
 1  F159 (5120-01-430-5351)  RIVET NOSEPIECE; 1/8" 
 1  F143 (5120-01-430-5344)  RIVET NOSEPIECE; 5/32-3/16" 
 1  F142 (5120-01-430-5368)  RIVET NOSEPIECE; 1/4" 
 1  F367    DRIVING ANVIL; #6 
 1  F364 (5120-01-430-5387)  DRIVING ANVIL; #8 
 1  F365 (5120-01-430-5358)  DRIVING ANVIL; #10 
 1  F366 (5120-01-430-5321)  DRIVING ANVIL; 1/4 
 1  F176    DRIVING ANVIL; #10 TSN 
 1  F177    DRIVING ANVIL; 1/4 TSN 
 1  F378    DRIVING ANVIL; 5/16 
 1  F379    DRIVING ANVIL; 3/8 
 1  F1 (F360) (5120-01-430-5379) PULL-UP STUD; 6-32 
 1  F2 (F361) (5120-01-430-5320) PULL-UP STUD; 8-32 
 1  F3 (F362) (5120-01-430-5377) PULL-UP STUD; 10-32 
 1  F4 (F363) (5120-01-430-5375) PULL-UP STUD; 1/4-28 
 1  F5 (F372) (5120-01-430-5335) PULL-UP STUD; 10-24 
 1  F6 (F373) (5120-01-430-5342) PULL-UP STUD; 1/4-20 
 1  F7 (F374) (5120-01-430-5334) PULL-UP STUD; 5/16-18 
 1  F8 (F375) (5120-01-430-5369) PULL-UP STUD; 3/8-16 
 1  F170-A (5120-01-430-5347) MASTER SHAFT ASSEMBLY 
 1  F171 (5120-01-430-5343)  TURN NUT 
 1  F602A    TOOL CASE; METAL WEATHERTIGHT 
 1  F1074 (5120-01-430-5386) CHERRY MAX STR. PULLING HD. 
 1  F1075 (5120-01-430-5346) CHERRY MAX RT. ANGLE HEAD 
 1  F1076 (5120-01-430-5328) CHERRY MAX OFFSET PULLING HD. 
  
TECHNICAL NOTE: THE D-100-MIL-1 KIT CONTAINS TWO "TSN" DRIVING ANVILS; ONE EACH #10 AND 1/4".  THE TSN DRIVING ANVIL 
CAN BE IDENTIFIED BY THE GROVE AROUND THE HOLE ON THE FORWARD DRIVING END OF THE ANVIL.  WHEN INSTALLING 
RIVNUTS, USE THE DRIVING ANVILS WITH THE FLAT DRIVING SURFACE.  WHEN INSTALLING THIN SHEET THREADED 
INSERTS(TSN's), USE THE DRIVING ANVILS WITH THE GROVE ON THE DRIVING SURFACE (F176 AND F177). 
 
*Note: F187-1A and F187-2A are sold as an assembly F187 (5120-01-430-5339). 
Replacement jaws for riveter, 2pc - F122-A (5120-01-430-5378). 
 


